Perimeters - Answers

Key Stage 2: 2003 Paper A

1.
| 5 Jand[ 2 JOR [ 2 Jand| 5 |
3.5 |and | 35 |

Key Stage 2: 2004 Paper A

1.

Key Stage 2: 2004 Paper A

2.

Key Stage 2: 2004 Paper B

1.




Key Stage 2: 2005 Paper B

1.

Key Stage 2: 2006 Paper A
1.

Key Stage 2: 2007 Paper A
1.



Key Stage 2: 2008 Paper B

1.
Key Stage 2: 2009 Paper A

1.

Key Stage 2: 2010 Paper A

1.




Key Stage 2: 2011 Paper A

1.

Key Stage 2: 2012 Paper A L6

1.




Key Stage 2: 2012 Paper A
1.

13a e 1m Accept 1

13b D 1m

Key Stage 2: 2013 Paper A L6

1.
3 Completes all three rows correctly, eg: 2m ! Measures
. See guid T
den 3cm | 15cm | 15cm guidanca {page-7]
rhombus Sen 9cm S9cm | 9cm v Side lengths in each row may be given

10cm | 8cm 8cm in any order

+ Accept correct values with cm omitted eqg,
for the rectangle:

=15 3 15

Completes two rows comectly im

Key Stage 2: 2013 Paper A
1.

23 Award TWO marks for the comect answer of 54 Up to 2m

It the answer is incorrect, award ONE mark for Working must be carried through to reach
evidence of appropriate working, eg an answer for the award of ONE mark.

Bxd4=32
dx4=12
Sx2=10

32 + 12 + 10 = wrong answer



Key Stage 2: 2014 Paper AL6

1.
2 6.8 2m ¢ Accept equivalent fractions and decimals,
£g:
- ﬁ%
or
Shows or implies a complete, correct method, eg: im X  Incorrect methods, eq:

where the perimeter of the pentagon

« 50=3x10+4
i treated as being 4cm fess than the perimeter

S5d=34 : 5
A A of the triangle:
* 30-4=26
* 3 x 10 =40 (error) 26+5=52
40+4=44 ' ’
44 = 5 = 8.4 ferror)
* 30+4=34
34=5
Key Stage 2: 2014 Paper B L6
1.
1 25.7 2m ! Measures
See guidance (page 7)
v Equivalent fractions or decimals, eg:
. 2575

v Accept 25 or 26 (an answer that has been
rounded or truncated)

v For 2m, use of & other than 3 or 3.14
(the given approximation), ie:
* 25.71
* 257(.)
* 255
e 10 + 51

025-‘;)-

15.7 seen (half the penmeter of the circle, without im v For 1m, use of i other than 3 or 3.14
the straight edge added) (the given approximation), ie:

15.71

15.7(...)

155

5r

153

OR
Shows or implies a complete, correct method, eg:

s 3(3.14x10)+10



Key Stage 2: 2014 Paper A

1.

15
Key Stage 2:
1.

11

Award TWO marks for the comect answer of 42

If the answer is incorrect award ONE mark for
evidence of appropriate working, eq:

m 28:4=7
7 x B = wrong answer

OR
m 28:2=14

14 + 28 = wrong answer

2015 Paper AL6

15

6(cm) and 1.5(cm) seen (the dimensions of the
rectangle)

OR

Shows or implies a complete correct method, eg:

* {36 = 8 (error)
8+4=2
2x(@+2)

* Gx6=236

6 +4=1.2 lemon)
6+12+6+12

Key Stage 2: 2015 Paper B

1.

Award TWO marks for the correct answer of 72

If the answer is incorrect, award ONE mark for
evidence of appropriate working, eg

m 13x4=52
5x4=20

52 + 20 = wrong answer

Up to 2m

g

im

Up to 2m

Working must be carried through to reach an
answer for the award of ONE mark.

X Confusion between area and perimeter,
ie:
* side of square is 36 + 4 = 9 (eror)
2 x (9 + 2.25)

Working must be carried through to reach an
answer for the award of ONME mark.



